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EXAMINATION, NOVEMBER 2018
(CUCBS-pa)
Economics
ECO1C 04—QUANTITATIVE METHODS FOR ECONOMIC ANALYEIS 1
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Part A

Answer all questinns. Weightage 1 for each question.
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otal cost of making x litres of an acid is T = - 80 + 80 x * rupees, Find the number of units
+h the marginal cost is Rs. 1.25.
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Find the minimum of u « 2,*
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it 'ﬂfﬁ‘ll:hn formed from a geoup of & boys and giris. Find the probubility that the
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Ra, 1,000 por diy, If it i fuir, e e enrn only fta
Mﬂﬂiu 6 0.4, what in his expectation ? i
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¥ under the conditinn that ¢ By = 4. What in the value of 4

Ilmﬂnpruhmuwwt,mm f(x)=6Bx(1-2),05x<]. Pind the first fwo
W mean. Also find mean and variance.
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Part C
| .-Ilnuwn.nj two questions. Weightage 4 for each question,
Ing using matrix method :

XHry+z=9
2x +by + T2 =52
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=.-,‘:' Find the total derivative of u with respect to tif u=x" + y* x=£* + 3.

‘ind U

The net revenue of a monopolist producing = tons of chocolate is given by

L Lj&-r _[% +3x HI]D]. Find the level of output at which the net reveaue will be

duces a certain type of outputs by three types of machines. The respective daily
i g are Machine I : 3000 units, Machine I1 : 2500 units, Machine U1 : 4500 units.
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s for the other two machines ate respectivaly 1.9% and 2%. An iter is drawn
---_mmmmmm“hMﬂMMdﬂmuu What is the prebability that
1 the output of (a) Machine I ; (b} Machiue 11 ; and (¢) Machine 01 7

(2 w4 = 8 weightage)
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